i

— TERM . INSULATOR: B'LITE

PALNUT- STEEL _TERMMAL ,BRASS (2 Ears) @D
FACR NUT- RRASS
CHROME PLATE
li 22.60
/ @
PLUNGER RUTTON SCREW, 8-32 UNG-2A STEEL (2 REG'DD

BRASS , RQLLED CHROME L' WASHER -STEEL (2 Rea b)@
" 2.03
ON"WHEN DEPRESSEDZTE # THRU
REMAINDER OF TRAVEL

NOTES

|902§

1) COPPER ALLDY CONTACTS

32.51 2) NUMBER OF PolES |
NUMBER - OF THROWS |
3) SEAULING ~NONE
® 4) ALL STEFL PARTS PLATED
NQRMALLY CASE - STEEL
5) RATING ! RESISTIVE ! [INDUCTIVE
22.09 = [2v] 15 amPs| 16 AMPS
av[ 8 aMPs | 5 AMPs
9.9 50,80 - LIFE @ RATED CURRENT
) MAKE £ BREAK /_[2V-100,000 MIN,
METRIC o 24 V- 55,000 MIN,
< e Confidential Property of Cole Hersee DO NOT SCALE.
LET)| WAS DATE |BY] WAS DATE |BY MATERAL | oRawn [cneones D seaE DATE DRAWN
~—  IWNR|AF it 2-28-46
[T _INOTE %_m_é‘f S-4-08 [SA FINISH DATE BLUEPRINT
S|EcN o232y [cesodt] q‘.’_‘i“_‘.’w'lﬁ'_‘fec“
R| e (25234 [in | ToteRances
e T NNR T P STARTER SWITCH | 9023
CH-188(4-78) - . .




MM N, ' .
‘ﬁL’jis B PAL NUT, STEEL TERM. n\\SUL_~3 B’ LTE 9023“09'
254 .6 x ,
338 o cAP (RED, RUBBER ) - TERMINAL,, STEEL
.. 209 870 & NUT ASSY
7T R2.60 .890
L. 325\ 1780
| 5080 2.000 /.

b LI W7 ‘ J/
l5e 2’4 60 REF.
o
. o SCREW , 8-32 ONGZA [ STEEL
PLUNGER BUTTOMN, BRASS. |
. ROLLED CHROME. LOCKWASHER ,STEEL
O -
O BUSHING,5/8 ~32UN-2A ALUM:
[T ] -_ e,
g | 32.5| REF.
V) Q. 1 ) j 1
&z @ | i
X \ B B
. % )
w R | \
O | foN" WHEM DEPRESSED | fe o
U | 12947314 £ THRU. REMAINDER 2209+ \* CASE, STEEL
. | oF TRAVEL. . _
9.39 — -50.80 ————
 NORMALLY “oFF — NOTE:
METRIC. | : ® ). ALL STEEL PARTS PLATED
IO AMPS @12 VOLTS e DO NOT SCALE
‘ LET WAS DATE |BY|LET wAS pATE |By|  MATERIAL | DIAWR (EHECKED) APPRVD SCAE | A SIC EEXCEPT DATE DRAWN
i VKX 1=l lwicap et assd 2710778
FINISH
—— COLE-HERSEE COMPANY PATE BLUEPRINT
BOSTON, MASS. 02127, U.S.A. )
‘ C A ‘5,”,{2_‘[2523‘3 ”/(1/(11_ TH TOLERANCES _
Sy Fan (SEULDP AT |mem ioes| MOMEMTARY SWITCH[POZ3-O9 |
| ‘.:;:L‘ boo>%- - BAAULDING CO., INC. 21-10961 t0

Confidential Property of Cole Hersee



Lo . - PLUNGEK. bUT'I QN ALUM. , ;
! e e me e T I SET SEREW, STEEL ;Y L ?‘55
A e —~ PLUNGER , STEEL OR BRA%S C/\D LT,
- - —HEX NUT, STEEL
) — PALNUT, STEEL |
i ' — BUSHING PLAN BRASS 5/832 THD. ‘
: —CASE, STEEL . |
—TERN\ INSUL,, PHENOLIC. __ . AR
- SCREW-SEMS,

e L

.

* COLE-HERSEE CO.

- ® NoRMALLY oFF 2.28(09—»
(IN CONTACT)

9,65 he-16.76
(29

[-e&]

[z

b 5354 gFRRX

/-

..m[ 3

"NOTE!

,.gaxxm.s STEEL:;g |

AL STEEL PARTS ETTHER
ZAINC PLT., DICHROMATE

. DIP OR CAD PLT,

kS

SPAULOING CO., INC. 21.56481

N et

' o — G5. 2T APPRO™ —
bt .57
Ly | oMENSIONS MILLIMETERS [TncHey 6 NET LAt E
b x per WAS DATE |BY|LET WAS DATE |By]  MATERIAL Towmn Jensoneolrrrvo] seie | = . DATE DRAWN
b ' # VP (W4 FULL 12-21-53

vy ‘ Fmen COLE-HERSEE COMPANY PATE BLOEPRINT

e H |AbL/ 22156 jejz4/ [Ax 7 BOSTON, MASS. 02127, U.SA. . ;

R G | REV.[19288 |1-14-7K]kG[ TOLERANCES | 3
’ . ’ ,c; A PUCTUE G I 1 F | REDRAWN 10- 2975 X ;gggﬁ."“:.ol _SZARTER i SW ‘TCH . g ‘ 55 j :
i 2l y S ..

G

. '**‘

Confidential Property of Cole Hersee



COLE-HERSEE CO.

"O'RING SEAL
(SILICONE GREASE LUBRICANT

rmwvm:ﬁ BUTTOM-BRASS ROMED CHROME
\ ‘ FACE NUT-BRASS ROLLED CHROME
s = T 5
\ \ 5 32 UN-2A
— HEX NJ7T STEEL %-32

ST

NORMALLY OPEN, CONTALTS CLOSED
WHEN PLUNGER DEPRESSED 1.35/3.17
THRU REMAINDER OF 457/635 FULL
TRAVEL.,

SWITCH SHOWN IN
“OFF" POSITION

NOTE .
1. 'O" RING SEALED AT MOUNTING BUSHING ONLY.
2. SILVER (ODNTACT SURFACES.
3.ALL EXTERIOR METAL PARTS MAY BE CAD. OR.
ZINC. AT (CLEAR DICHROMATE DIP) UNLESS NOTED.

METRIL @ FRONT VIEW

Confidential Property of Cole Hers: FCAGE

| 9216

DO NOT SCALE

o st [efz71 foroma 2475

= WAS pave |oy|Ler] 'WAS DATE BY MATERIAL ORAWN [CHECKED|APPRY'D.] SCALE DATE DRAWN
P 17’ I~ | 579-58
FINISH COLE"HERSEE COMPANY DATE BLUEPRINT
BOSTON, MASS. 02127, U.SA.
[=} ADMD/ 1S 17- L14  TOLERANCES. -
. A ~ INDUSTRIAL START SWITCH | 9216




CAP £ NUT ASSEMBLY, BLACK | '

, — HEX NUT, 5/ -32UN
. AN CASE , 6OLD DIP
' SCREW-SEMS5, B-32UNC X 635 LG.
P o e | 1
“FRONT_VIEW
.. OF ChSE

NORMALLY OPEN g
CLOSED WHEN PLUNGER
.00

_ REF
DEPRESSED 1.39/3.47 —» , 7R A4
AND THRL REMAINDER
OF TRAVEL
e 50,29 RER |
NOTES: |
I. O-RING SEALED AT MOUNTING STEM
2. SILVER CONTACT SUUREACES
2 ALL STEEL PARTS 'PLATED
METRIC
_ \ _ DO NOT SCALE
e WAS DATE lBvlLer WAS pAaTe | BY MATERIAL DRAWN | creckep [aPPRv'D.| scaLE 92 1 \A// CA /_1 DATE DRAWN
# CF |%)+ 11| & NUT SA 2-28-L¥
FINISH ¢ DATE BLUEPRINT
—+ Ce Coie Hersee Eo.
. 20 OLD COLONY AVENUE. SOUTH BOSTON. MA. US.A 02127 % e
D PODEDLRIS 70 P-l-8]|-1z| TOLERANCES C
oo WS s ECM * . — -
- H | %€ c:‘«u‘. i 3-\3.52® amgL:.QS SW'TCH MOMa N.O ‘92“0 03
CH-188(4-78)

Confidential Property of Cole Hersee



Revision Control Record
Rev. Dexcription of Change ECNNo.! Date
J | NOTE o281 | 100802

5/8-32 UN-2A

HEX NUT, NOTE S

FACE NUT,BRASS, ROLLED CHROME, NOTE S HOUSING, ZINC DIE CAST
TERMINAL INSULATOR, MOLDED PHENOLIC

PLUNGER BUTTON, BRASS, ROLLED CHROME
SEMS SCREW #8-32-2A,

2 REQ'D, NOTE S |

0.440 (11171

0.630 [16.00]

1120 [28.451

FRONT VIEW

LESS FACE NUT CONTACTS NORMALLY OPEN el
CLOSED WHEN PLUNGER IS
DEPRESSED 1.39/3.17 AND
THRU REMAINDER OF
TRAVEL

1980 [50.29]

et 0.380 [9.65]
1. ALL STEEL PARTS EITHER ZINC PLATED
DICHROMATE DIP OR CAD Pl
¢ 2, ALL DIMENSIONS REFERANCE ONLY
3. HEAVY SILVER CUNTACT SURFACES
Q@ 4. RATING' 20 AMP € 2
. PARTS MAYBE ASSEMBLED I:IR SUPPLIED IN BAG
T [ T [CErre e Cole Hersee Co.
‘R O% e T | @ cummemc e i 26 014 Cotoay Ave., Seuth Baseos, NA, 02127
o] b e R
B N—
>V MRS AN lermocss s Akt <1< ERNOH SOITRSL, K13 e rapanabiny o o g G & Buctgion: HEAVY DUTY
S R | S et e e
= i e, Db A e b ART]| ITCH
Bosainn s, st sr s et ses e | S0 RS [
o e T T = ——— Bkl goa4q J
Rt [r1:1 [ RO [y 316780 [ Pg. 1




S — = - -

U N T T S e — T e & e 4
| MMOIN . PLLINGER BUTTON,CHROME PLI, I 9858 E
203 <080 . ,  FACE NUT, CHROME PLT.
© 1239370 R, BUSHING 3g-32uN-24 .~ .
2505 om0l ' , , — HEX NUT. AL
2240 8% [ , S y TERM. INSUUETOR ) " \* 5
J20 ‘ ' N o ‘h
2844 120 ‘ / —TERMINAL (EREG'D,
| | ’ I . | 22 e .
| 5023 \ ‘ _
' (SCREW) ‘ o =7 f:a Ny
\\ONM . V
OFF* . f '
Y s L . BB.95REE "
.93 [7 _ s 1
- DIA. 17} P T :
) T_ —3 N4 A>| PR v
.39 —» ‘J" +8F?8E?'4 o L@
al v 22.09 e o |
| bl . hs
' ~ k382 g
- u ' NOTES: .
‘ LALL STEEL PARTS PLATED |
j ] \ 2.RATING:10AMPS ®'12VvoLTs |-
L METRIC “ DO'NOT SCALE|
LET WAS DATE |BY)L WAS paTe | BY MATERIAL DRAWN | cHeckep JaPPRV D | SCALE DATE DRAWN
- ’7 . s - -
uPLg Ky ‘ 6-1-59
FINISH m DATE BLUEPRINT
Cole Hersee Co. - .
i NORMALLY “OFE” |
U [REDRAWN _loi2tfpols | vemec =.25 | MOMENTARY SWITCH 2238
~ CH-188(4-78)

“ - N oty

.
[
v N 3

. .
v - o s R S ke

Confidential Property of Cole Hersee



)
i jg/’f
MM T IN
551 8
22,60 } &9
PA.67 |05
£8.94 1172
ER.951).14
f
) y
!
i
i

E
i ’i

/

f

%

¢
bkt
" S

~ ¢

4&‘ [

—

— CAP § NLIT” ASSY (SEE NOTE 2) l9238 Of

— MTG. STEM-ALUM - 5/8-32 -2A
HEX NUT - 2 REHDL (SEE NoTE 2)

MALE BLADE - TERMINALS

)TN |2
L Ity Q f .
| ! 22.€0
|| o . '
\\ e e L ‘: L
‘_‘% TJ = ‘ *
{ . NORMALLY ‘OFF ,
' ON WHEN DEPRESSED ' , ¢ .
\ !
1 e \ eR9E T .
}
eev7 - ! l
i \_/ L_" 584
* NOTE :
, ® /. ALL. STL. PARTS PLATED. -, :
b @ 2. CAP. £ . NUT ASSY ONE
. \ f;f X 210‘7’ 6HIPP7EPD;£%_?WE
"ONE - HEX NU BLED . .
. 2O AMPS - 12 IOLTS = e Nor SCALE
ET WAS DATE BYLET] WAS DATE BY MATERIAL DRAWN | cHECKED JAPPRV D | SCALE BQS,C_ PT_ DATE DRAWN
—— | lf?.::; 1+1 | W) AR W R] 7-31-73 |
FINISH DATE BLUEPRINT
A7 P U A o I =|'|'°°'e”efsee°° L
Lho Ok ) ] TOLERANCES
N ] %CD/R o L 52/;;8 - DECeAL = MOMENTARY  SWITCH 9238 -0l
N METRIC =*=
) CH-188(4-78) .

‘
- e o T————. S

Confidential Property of Cole Hersee



IN
070
380
434
440
630
120
980

WUIN)
[@Xs .o QEENEERV, JEY
200000

9245

PLUNGER BUTTON

CAP & NUT ASSEMBLY, BLACK, NOTE 3 ®
FACE NUT, NOTE 3®

RECOMMENDED ASS'Y TO PANEL

HEX NUT, NOTE 3®

5/8-32 UN

CASE

TERMINAL INSULATOR

SCREW, SEMS, #8-32,
2 REQD, NOTE 3@ |

_
_ _ =i M04 _ _
H 3@' 120
J - ’
! |
—1 16 00
FRONT VIEW - 28 44
OF CASE 965 —| |
CONTACTS NORMALLY OPEN ————50 29—
CLOSED WHEN PLUNGER IS -
DEPRESSED 1770 APPROX
AND THRU REMAINDER OF ® NOTES
TRAVEL 35 AMPS | 12 vDC 1 ALL STEEL PARTS PLATED
20 AMPS | 24 VDC 2 SILVER CONTACT SURFACES
3 PARTS MAYBE ASSEMBLED OR

METRIC CURRENT RATING SUPPLIED IN A BAG
DO NOT SCALE
LET WAS DATE BY |LET WAS DATE | 8Y MATERIAL DRAWN]| CHK APVD | SCALE DATE DRAWN
EA Lm{’ 11 11/2/59
Fas | & Cole Hersee Co.| ©CATEB.ePRNTeD
20 OLD COLONY AVENUE, BOSTON, MA, USA, 02127-
P ECN #26813 Als] TOLERANCES
N ECN #2668 ;2;/,9977 aw] SehALE SW'TCH, MOM. NO 0245

Confidential Property of Cole Hersee




—BLACK CAPY NUT ASSY. |927G-09

—PLUNGER BUTTON

-SCREW, SEMS
8-32

FRONT VIEW OF CASE

0'- RING
{ |—HEX NUT 5/8-32 UN |

< CONTACTS NORMALLY \:__
k OPEN f CLOSEDWITH

PLUNGER  DEPRESSED
.39/ 317 § THROUGH
REMAINDER OF TRAVEL

NOTE :
I. SILVER CONTACT SURFACES
2. ALL STEEL PARTS PLATED
METRIC Confidential Property of Cole Hersee

DO NOT SCALE
e WAS DATE -{BYL!

. WAS DATE | BY MATERIAL Dnvm cm =3 ScALE 'DATE DRAWN
P —te /-é2 - 88

FINISH DATE BLUEPRINT
—H cule Hersee Co.

ped

ECN 02348 | 7/e4ke|Me

E occmn =25 [MOM SWITCH 2 CIRCURT 92?6—99




IN

.059
.119
.380
. 434
b4
.670
.118
.981

UIN s s 0Wa
oo~ - - X
- X=1¢; I
OoNO
NO &
22000000

"0" RING SEAL

(SILICONE GREASE LUBRICANT)

VIEW OF PLUNGER, "0" RING
& BUSHING CONST

SCALE 241

FRONT VIEW
OF CASE

METRIC

FACE NUT - BRASS, ROLLED CHROME

PLUNGER BUTTON-BRASS, ROLLED CHROME
5/8-32
HEX NUT
HOUSING
(SEE NOTE 4)

TERM. INSULATOR

SCREW SEMS #8-32
X 6.35 LONG(Z REQ'D)

.04

1T T ez /) 11.20
A2 | T | ,

|

9.65 —

=— 2844 T

—— NORMALLY OPEN-CONTACTS

CLOSED WHEN PLUNGER
DEPRESSED 152/3.04 THRU
REMAINDER OF TRAVEL

90000-01

NOTES:
1. SOLID SILVER RIVET STATIONARY

2

3.

CONTACT, SILVER LAMINATED MOVING CONTACT
NUMBER OF POLES: 1
NUMBER OF THROWS: 1
SEALING:
‘0" RING SEAL BETWEEN PLUNGER
AND MOUNTING STEM

. HOUSING: ZINC DIE CAST-60-DEEP

DICHROMATE DIP

. ALL STEEL PARTS EITHER ZINC PLATED

WITH DICHROMATE DIE OR CADMIUM PLT

. RATING:

12V DC: RESISTIVE 35 AMPS
INDUCTIVE 30 AMPS
24V DC: RESISTIVE 20 AMPS
INDUCTIVE 18 AMPS
LIFE @ RATED CURRENT
MAKE AND BREAK
12V & 24V-100,000 MIN.
ALL DIMENSION REFERENCE ONLY UNLESS
NOTED OTHERWISE

DO NOT SCALE

LET.

WAS

DATE

BY

LET.

WAS

DATE

BY

MATERIAL
N/A

DRAWN

CHK

Ve

APVD
N/A

SCALE
11

90000 W/SPEC.
FACE NUT

DATE DRAWN
02/03/67

ECN 00381

05/09/00

MK

FINISH
N/A

KG

Cole Hersee Co.

20 OLD COLONY AVENUE, BOSTON, MA, USA. 02127

DATE BLUEPRINTED

PUT ON CAD

05/05/00

MK

ISSUED

02/06/77

TR

TOLERANCES
DECMAL =  p/aA
ANGLE + N/A

START SWITCH

90000-01

i

Confidential Property of Cole Hersee



MM IN R1.01
0.25 0.010 114
0.38 0.015
ik 033
1.77 0.070 3.42
330 0.130
e -
§i0 9035 o ¥ — PLUNGER BUTTON
11.04 0.435 1038 NUT, HEX
11:33 3: 444
16-99 0.630 VIEW A
46.73 1.840 SCALE: 21

5/8-32 UN THREAD

CASE

TE

9001

TERMINAL - COPPER ALLOY
CABRA 1342 NICKEL PLATE
FOR PACKARD CONNECTOR
#2962679 OR EQUIVALENT

RMINAL, INSULATOR

_~SEE VIEW A

D at|
011.93 - P 629 11.04
L 2640 11.20
—1 16.00
FRONT VIEW 065 CH LoGo ®28.44
OF CASE ' 1673
CONTACTS NORMALLY OPEN —=f f=
CLOSED WHEN PLUNGER IS
DEPRESSED 1.77 APPROX.
AND THRU REMAINDER OF NOTES:
TRAVEL 1. ALL STEEL PARTS PLATED
2. SILVER CONTACT SURFACES
METRIC | DO NOT SCALE
LET. WAS DATE BY |LET. WAS DATE | BY MATERIAL DRAWN APVD | SCALE DATE DRAWN
S g 11 EX13671 4124164
FsH g Cole Hersee Co. DATE BLUEPRNTED
20 OLD COLONY AVENUE, BOSTON, MA., US.A, 02127
TOLERANCES
T Foromas Tvam o222 SWITCH, MOM, NO 90011

Confidential Property of Cole Hersee




UINON) = e

MM IN

.070
.380
.440
.630
.088
. 120
.980

OXNOA 0
O -
[ RN ]
A2 0000

FRONT VIEW
OF CASE

CONTACTS NORMALLY OPEN

PLUNGER BUTTON

90030

CAP & NUT ASSEMBLY, BLACK, NOTE 3 (N
FACE NUT, NOTE 3 (Y

HEX NUT, NOTE 3 ®
5/8-32 UN
CASE

TERMINAL INSULATOR

2 REQ'D, NOTE 3

|
\

U1 L
—{ 16.00 L—

965 —=| |=—

——50.29 —

g —

CLOSED WHEN PLUNGER IS NOTES.

DEPRESSED 1770 APPROX. [35 AMPS | 12 VDC
1 ALL STEEL PARTS PLATED
AND THRU REMAINDER OF - 1507aAMPS | 24 VDC_| 2. SILVER CONTACT SURFACES @

SCREW, SEMS #8-

32, @

TRAVEL
CURRENT RATING 3. PARTS MAYBE ASSEMBLED OR
SUPPLIED IN A-BAG
METRIC ’ ® DO NOT SCALE
LET. WAS DATE | BY |LET. WAS DATE [BY| MATERIAL |ORAWN| CHK | APVD |SCALE DATE DRAWN
CF |jmP 11 19/67
FINISH t“’ 3CO|E He'.'see Co. DATE BLUEPRNTED
20:0LD COLONY AVENUE. BOSTON, MAY USA, 02127
P o as) e [OW, P-P, MOM, N.O] 90030

ECN #26408
By B2oesd s/23/97 [aw] ANGLE %

Confidential Property of Cole Hersee



MM IN

.070
.380
. 440
.630
.088
.120
.980

-
-
-
~
22200000

PLUNGER BUTTON
CAP & NUT ASSEMBLY, BROWN
NUT, HEX

5/8-32 UN THREAD

CA

SE

TERMINAL INSULATOR

SCREW, SEMS #8-32 (2 REQ'D)

— = — 327.63 i ' :
i &Y
-1 16.00 L
FRONT VIEW -~ 28.44
OF CASE 965 —| |
fe————50.29 —
CONTACTS NORMALLY OPEN ——
CLOSED WHEN7PLUNGER IS
DEPRESSED 1.770 APPROX.
AND THRU REMAINDER OF 35 AMPS | 12 VDC NOTES:
TRAVEL 20 AMPS 24 VDC 1. ALL STEEL PARTS PLATED
2. SILVER CONTACT SURFACES
METRIC CURRENT RATING DO NOT SCALE
LET. WAS DATE | BY WAS DATE | BY MATERIAL DRAWN| O | APVD | SCALE DATE DRAWN
RW |TT 11| SN asay becE 417171
A Coale Hersee Co. DATE: BLUEPRNTED
20 OLD COLONY AVENUE, BOSTON, MA., USA. 02127
TOLERANCES

Confidential Property of Cole Hersee

90030-01 |

-



90036-02

MM IN
1.40 0.055
g-gg g'ggg PLUNGER BUTTON, BRASS, CHROME PLATED
12'38 8-2;8 NUT, FACE, BRASS, ROLLED CHROME
ggiég ;Z gg NUT, HEX, STEEL
) ) 5/8-32 UN-2A THD
HOUSING, ZINC DIE CAST
MALE BLADE TERMINAL, SAE J858, TYPE 1B,
BRASS #31562 TO FIT C-H #30208 OR
PACKARD #2962679 CONNECTOR (2 REQD)
) 0 @ -
- 4 02645 {{ PET—H- 118
m T O
=/
CONTACTS NORMALLY OPEN. —— -
Lo e S
FRONT VIEW THROUGH REMAINDER
OF CASE OF TRAVEL
9.65 — —
—{ 1600 |=—
~—— 5390 ————~
NOTES:
1 ALL STEEL PARTS PLATED
2. ALL DIMENSIONS ARE REFERENCE
METRIC DO NOT SCALE
LET. WAS DATE | BY WAS DATE | BY MATERIAL DRAWN| CHK | APVD | SCALE 90036 WfTH 8304 DATE DRAWN
AN 11 | FACENUT 4114169
FNSH | Cole Hersee Co. DATE BLUEPRNTED
20 OL.D COLONY AVENUE, BOSTON, MA., US.A, 02127
TOLERANCES
S T o Ptrn HEAVY DUTY ST. SW. | 90036-02

Confidential Property of Cole Hersee




	9023
	9023-09
	9155
	9216
	9216-03
	9231
	9238
	9238-01
	9245
	9276-09
	90000-01
	90011
	90030
	90030-01
	90036-02

